[This question paper contains 4 printed pages.} -

3440 Your Roll No.

LL.B./V Term ' BS
Paper ‘LB-502 — JURISPRUDENCE -1 (NC)
(Theory of Law) .
Time ; 3‘Hours . Maximum Marks 100

(Write your Roll No. on the top immediately
on receipt of this question paper.)

Note :— Answers may be written either in English or in
Hindi; but the same medium should be used
throughout  the paper.

Rereh : - 50 WA T TR i a1 B<d fase) v s F g
F?ﬁrwrwawz}'wmw_wa‘}#ﬂm@w

Answer any Five questions.
All questions carry equal marks.
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1. Examine critically the Austinian concept of Law.
Discuss the concepts of sovercignty and Independent

political society as explained by Austin with the help
of examples. (20)

P.T.O.



3440 2
ST R deeen o whewE W B |
SiRe g/ afEfi W O WA oEe e ot
wEEIA @ R drmm @R ¢

2. What is the pure theory of Law ? Examine critically
the assumption that, ‘the Grundnorm should have
minimum of effectiveness.’ . (20)
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3. Discuss Hart’s criticism of Austin’s theory. How is
the Rule of Recognition different from Kelsen’s
Grundnorm as an ultimate hypothesis validating the
other legal norms 72 . (20)
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4. (a) What are the chief components of Savigny's
thesis ?

(b) Critically discuss Maine’s dictum that, ‘the
movement of progressive societies has hitherto
been a movement from status to contract’.

(20)
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3. What is the aim of Social engineering ? In the face of
India’s complex and diversified society and social
institutions, how can Pound’s scheme of inter..ests and
balancing metaphor be suitably applied in judicial
methods and Iegal.administration. Explain. (20)
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6. (a) What do you, understand by ‘natural law with a

variable content’.

(b) Explain Rawl’s ‘Principles of Priority’.
(10x2=20)
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7.

Tired of domestic abuse a 23 year old girl jumped
into a well alongwith her child of 2 years in order to

. commit suicide. After sometime when they were pulled -

out, the «child was found dead but the girl survived.
She is tried for the murder of her child as well as
attempt to commit suicides. Discuss in the light of
Explorer’s case. (20)
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Explain any two :
(n) Positivism
(b) Law as a dynamic systém of norms

(¢) Dworkin’s critique of Hart’s legal positivism
(10x2=20)
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